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I. Multiple-Choices (20 points)

Directions: In each of the following sentences, there are 4 choices marked A), B), C), and D). Choose the ONE answer that best completes each sentence.

1.______still believe we can resolve the problem without going to war.
A) Optimists

B) Pessimism


C) Pessimists

D) Optimism
2. These girls have an advantage ______ those in calculation.

A) to



B) than



C) over


D) with
3. — Thank you so much for the lovely evening, Jim. Frank and I had such a good time.

  —You’re quite welcome, John. ______ . We’d been looking forward to seeing you.

A) We’re glad to meet you



B) I’m afraid you didn’t have a good time

C) Just stay a little longer, please

D) Thank you for coming
4. He burst into tears ______ he heard the sad news.
A) until     


B) the moment


C) that



D) so
5. I was sure ______ the children would overcome all the difficulties.
A) if




B) of



C) what



D) that
1-5. ACDBD 

6. It is either my sister or my brother who ______ the first to come.
A) are




B) will be



C) was



D) is
7. The benefits of the surgery far ______ the risk.
A) overweight

    B) outweigh


C) underweight
D) outgrow
8. He felt he needed to focus more ______his study.
A) on



    B) in



    C) over


D) at
9. ______ riding to school, Tom usually goes to school on foot.
A) Without


    B) Rather than


C) Instead of

D) In spite of
10. The teacher said, “Stop  ______ .” So we stopped ______.
A) talking; talking
    B) talking; to talk

C) to talk; to talk
D) talking; talk
6-10.DBACA 
11. How can I get it ______ to him that this is really important?

A) over


B) through


C) up


D) on
12. The famous author spent half of his life ______ this novel.
A) to write


B) writing


C) on write

D) on writing
13. It took Mike a couple of days to ______ out what had happened.
A) work


B) get



C) take


D) figure
14. Teaching materials ______ greatly from school to school in the United States.
A) vary


B) various


C) variety

D) different
15. Police ______that there may be further terrorist attacks.

A) fearless


B) fearful



C) fear


D) afraid

11-15 BBDAC 
16. The girl I met yesterday ______ to be one of my sister’s old friends.
A) turns off


B) turns out

C) turn on

D) turn over
17. The old in the country ______ taken good care of.
A) has



B) have


C) is



D) are
18. Anybody will do, _____ they are responsible for that.
A) so far as


B) as far as

C) as long as

D) as soon as
19. One of the computers is broken and he’s blaming it ______ me.
A) on



B) to


C) for


D) at
20. — ______.

— I’m not sure what I’ll do. I hope to watch TV and enjoy myself.
A) Will you go on a picnic with us tomorrow?
B) I have a lot of things to do during the summer break.
C) Will you go with us to visit the Great Wall?
D) What are you going to do during the summer break?
16-20 BDCAD

21. I haven’t seen her _______.

A) during three weeks



B) since three weeks

C) three weeks ago



D) for three weeks

22. Mrs. Jones ________ about her hard housework.

A) has been always complaining
B) is always complaining

C) always complain



D) has always complain

23. “When is the lecture supposed to start?” “It ________ now.”

A) has about to start



B) is about starting

C) is about to start



D) is about start

24. Three of these we shall not need here, but they are worthy ________ a mention.

A) to



B) at



C) for


D) of

25. Still half ________, Jenny began to make the kid’s breakfast.

A) asleep


B) awake


C) sleep


D) sleeping

21-25 DBCDA 

26. “Why hasn’t he turned up yet?” “He ________ have missed the train, but I’m not quite sure.” 

A) must


B) may


C) can


D) should

27. She couldn’t help______ when she heard the bad news.
A) cry



B) crying


C) to cry


D) cried
28. The question ______ next year has something important to do with our daily life.
A) to discuss

B) discussed

C) being discussed
D) to be discussed
29. It is careless ______ the same mistake in your composition.
A) for you to make
B) for you making
C) of you to make
D) of you making
26-30 BBDCA

30. We must do whatever we can ______ those who are in trouble.
A) to help


B) help


C) helping

D) to have helped
31. It is best if divorced parents can _________ friendly relations for the sake of the children.
A) stay



B) reserve


C) maintain


D) preserve
32. Jim was in _________ .Everything seemed to be going wrong.
A) disappear

B) disapproval


C) display


D) despair
33. John is a great travelling _________: funny and sensible at the same time.
A) company


B) companionship

C) comparison


D) companion
34. Some people like to eat apples. But some prefer bananas _________ apples.
A) to



B) with



C) for



D) against
35. — What do you think of this red hat? Do you think it suits me?
— _________. Perhaps another style would be better.
A) I like it very much.





B) Sorry, I have no idea.
C) I really don’t think it looks good on you.
D) Yes, I know what to say.
31-35 CDDAC

36. Word has come _________ some guests from Canada will come on a visit to our school.
A) what


B) that



C) whether


D) when
37. The reason we’re so late is  _________.
A) for the car breaks down




B) due to the car breaking down
C) that the car broke down




D) because the car broke down
38. _________the old man’s sons wanted to know was _________ the gold had been hidden.
A) That; what

B) What; where

C) What; that


D) That; where
39. _________gives us help is welcome.
A) No matter who
B) Whoever


C) Who ever


D) Those who
40. I was going to offer you some cake, but there’s _____ left.

A) no



B) neither


C) no one



D) none

36-40 BCBBD
41. It is best if divorced parents can _________ friendly relations for the sake of the children.

A) stay



B) reserve


C) maintain


D) preserve

42. Jim was in _________ .Everything seemed to be going wrong.

A) disappear

B) disapproval


C) display


D) despair

43. John is a great travelling _________: funny and sensible at the same time.

A) company


B) companionship

C) comparison


D) companion

44. Some people like to eat apples. But some prefer bananas _________ apples.

A) to



B) with



C) for



D) against

45. — What do you think of this red hat? Do you think it suits me?

— _________. Perhaps another style would be better.

A) I like it very much.





B) Sorry, I have no idea.

C) I really don’t think it looks good on you.
D) Yes, I know what to say.
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46. The reason we’re so late is  _________.

A) for the car breaks down




B) due to the car breaking down

C) that the car broke down




D) because the car broke down

47. _________the old man’s sons wanted to know was _________ the gold had been hidden.

A) That; what

B) What; where

C) What; that


D) That; where

48. _________gives us help is welcome.

A) No matter who
B) Whoever


C) Who ever


D) Those who

49. I was going to offer you some cake, but there’s _____ left.

A) no



B) neither


C) no one



D) none

50. Researchers have stumbled ______ a drug that may help patients.

A) on



B) in


C) over



D) at

46-50 CBBDA

51. — What’s the matter with you, Jim? You look pale.

— ______.

A) Oh, it is well.

B) I feel awful today. I didn’t get any sleep last night.

C) Yes, but I don’t care.

D) It has nothing to do with you.

52. The net bar, ______ last year, is very popular among the students in this school.

A) open


B) opening


C) having opened

D) opened

53. I’m going to have my car ______ this afternoon.

A) to be fixed

B) to fix



C) fixed



D) fixing

54. ______ from space, the earth looks like a blue ball.

A) Seen


B) See



C) Seeing



D) To see

55. They found a ______ old man ______ on the ground.

A) dying; lying

B) dead; lied


C) death; laying

D) died; lain
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56. They ______ considerable influence within the school.

A) existed


B) exerted

C) executed

D) excused

57. The fire ______ two deaths and the damage of the entire store.

A) was resulted in
B) was resulted
C) resulted in

D) resulted from

58. Researchers have stumbled ______ a drug that may help patients.

A) on



B) in


C) over


D) at

59. A child learns to read by seeing the words ______.

A) repeatly


B) repeatedly

C) properly

D) obviously

60. Young children are ______ to get sick more often than adults.

A) tend


B) tender


C) tendency

D) likely

56-60 BCABD

II. Cloze Test (10 points)

Directions: There are 10 blanks in the following passage. For each blank there are 4 choices marked A), B), C) and D). Choose the ONE answer that best completes each sentence.
1.
A punctual person is in habit of doing a thing at the proper time and is never late in keeping a(n) 1) ______. The unpunctual man, on the other 2) ______, never does what he has to do at the proper time. He is always in a hurry and in the 3) ______ loses both time and his good name. A lost thing may be found again, but lost time can never be regained. Time is more 4) ______than material things. In fact, time is life itself. The unpunctual man is forever 5) ______ and mismanaging his most valuable asset as well as others’. The unpunctual person is always complaining that he finds 6) ______ time to 7) ______ letters, return calls, or keep appointments promptly. But the man 8) ______ really has a great deal to do is very careful of his time and 29) ______ complains. He knows that he cannot get 10) ______ his huge amount of work unless he faithfully keeps every piece of work when it has to be attended to.

1. A) promise

B) undertaking

C) appointment

D) responsibility
2. A) way


B) sake



C) behalf



D) hand
3. A) moment

    B) minute


C) last



D) end
4. A) valuable


B) profitable


C) better



D) favorable
5. A) wasting


B) making


C) earning


D) saving
6. A) more


B) much



C) no



D) not
7. A) write


B) answer


C) copy



D) produce
8. A) whom


B) who



C) which



D) what
9. A) often


B) always


C) seldom


D) almost
10. A) through


B) out



C) along



D) on

1-5 CDDAA   6-10 CBBCA
2.
We always convince ourselves that life will be better after we get married, have a baby, then another. Then we are 1) ______ that the kids aren’t old enough and we’ll be more contented when they are. After that we’re frustrated that we have teenagers to deal 2) ______. We will certainly be happy when they are out of that stage.

We always tell ourselves that our life will be 3) ______ when we get a better car, and are able to go on a nice vacation, when we retire. The truth is, there’s no better time than right now. If not now, when? Our life will always be filled 4) ______ challenges (挑战). It’s best to 5) ______ this to ourselves and decide to be happy anyway. One of my 6) ______ quotes comes from Alfred Souza. He said, “For a long time it had seemed to me that real life was about to begin. But there was always some obstacle (障碍) 7) ______, something to be gotten 8) ______ first, some unfinished business, time still to be served, a debt to be paid. Then life would begin. At last it dawned on me that these obstacles were my life.” This perspective (观点) has helped me to see that there is 9) ______ way to happiness. Happiness is the way. So, 10) ______ every moment that you have and remember that time waits for no one.
1. A) contented

B) frustrating

C) frustrated


D
) pleased
2. A) to


B) for


C) in



D) with
3. A) satisfied

B) complete

C) happiest


D) complex
4. A) with


B) of


C) in



D) about
5. A) admit

    B) deny


C) reject



D) refuse
6. A) favorable

B) favorite

C) favor



D) unfavorable
7. A) by the way
    B) in a way

C) in the way


D) on the way
8. A) away


B) out


C) through


D) off
9. A) one


B) some


C) not



D) no
  10. A) treat


B) treasure

C) take



D) find
1-5 CDBAA  6-10 BCCDB
3.

A blonde ( 金发女郎 ) walks into a bank in New York City and asks for the loan officer. She says she’s going to Europe 1) ______  business for two weeks and needs to borrow $5,000. The bank officer says the bank will need some kind of security ( 抵押 ) for the 2) ______, so the blonde hands over the keys 3) ______ a new Rolls-Royce ( 劳斯莱斯 ). The car is parked on the street in front of the bank; she has the title, and everything checks out. The bank 4) ______ to accept the car as collateral ( 抵押 ) for the loan. The bank’s president and its officers all enjoy a good laugh at the blonde for using a $250,000 Rolls 5) ______ collateral against $5,000 loan. An employee of the bank then proceeds to drive the Rolls into the bank’s underground garage and parks it there. Two weeks later, the blonde returns, 6) ______ the $5,000 and the interest, 7) ______ comes to $15.14. The loan officer says, “Miss, we are very happy to have had your business, and this transaction ( 交易 ) has 8) ______ out very nicely, but we are a little puzzled. While you were away, we checked you out and found that you are a multimillionaire. What 9) ______  us is, why you would bother to borrow $5,000?” The blond replies, “Where else in New York City can I 10) ______ my car for two weeks for only $15.41 and expect it to be there when I return?” 

1. A) for


B) at



C) in


D) on

2. A) money

B) loan


C) trip


D) bank

3. A) to


B) of


C) for


D) on

4. A) refuses

B) declines

C) advices

D) agrees

5. A) like


B) as


C) for


D) being

6. A) gives

B) pays


C) rewards

D) repays

7. A) which
    B) that


C) it



D) that

8. A) found

B) ended


C) worked

D) went

9. A) pleases

B) puzzles

C) excites

D) shocks
10. A) put

B) have


C) do


D) park
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III. Reading Comprehension (40 points)

Directions: There are 4 passages in this part. Each passage is followed by 5 questions. For each question there are 4 choices marked A), B), C), and D). Choose the ONE answer that best completes each sentence.

Passage 1

Vitamins are a group of substances found in food. The body needs them for life and health. So naturally, many people are concerned with the question: Am I getting enough vitamins, and am I getting the right kind? 
Even though very small amounts of each vitamin are enough for the needs of the body, that many people have not enough vitamins has some basis. And this has something to do with their diet — the food they take in. A person eating a good variety of foods gets all the vitamins now known to be needed with the possible exception of vitamin D. The problem is that there are many people who don’t choose foods wisely, don’t get enough variety, and don’t eat the basic foods they need to get their vitamins. So the answer to this question is: No extra vitamins are needed, if you eat proper food. In fact, many of the vitamins can not be stored in the body, so when extra vitamins are taken in, the body simply gets rid of them. It is even harmful to put too much of certain vitamins into the body. This has been found to be true of vitamin A and D, when large amounts are taken in.
What foods supply what vitamins? Here is a general idea. Vitamin A, for the health of the eyes, skin, teeth, and bones, is found in green vegetables, fruits, eggs, liver and butter. Vitamin B1 which helps the nervous and digestive systems and prevents certain diseases, is found in cereals, pork and liver. Vitamin B2 is found in milk, eggs, green vegetables and meats. Vitamin C, which helps bones and teeth, is found in tomatoes, certain fruits and vegetables. These are only a few of the most important vitamins the body needs.
1. Our body needs ______ for life and health.
A) small amounts of each vitamin


B) extra vitamins
C) all vitamins except vitamin D


D) large amounts of certain vitamins
2. Vitamin A is needed by____ and can be found in ______.
A) bones, pork






B) nervous system, milk
C) eyes, green vegetables




D) teeth, meats
3. Vitamin B1 is very important to ______.

A) the digestive system
B) bones


C) liver



D) skin
4. What will be the result if you take more vitamins than you really need?
A) They will do great harm to our body.
B) We get all the vitamins needed.
C) Our body will function more properly.
D) Our body simply gets rid of them.
5. The passage has probably been taken from ______.
A) a sports magazine




B) a journal of medical science
C) an aged magazine




D) a youth journal
1-5 ACADB
Passage 2

Some people argue that the pressure on international sportsmen and sportswomen kills the essence (真谛) of sport—the pursuit of personal excellence. Children kick a football around for fun. When they get older and play for local school teams, they become competitive but they still enjoy playing. The individual representing his country cannot afford to think about enjoying himself. He has to think only about winning. He is responsible for the entire nation's hopes, dreams and reputation.
A good example is the football Word Cup. Football is the world's most important sport. Winning the World Cup is perhaps the summit of international sporting success. Mention Argentina (阿根廷) to someone and the chances are that he'll think of football. In a sense， winning the World Cup put Argentina on the map.
Sports fans and supporters get quite unreasonable about the World Cup. People in England felt that their country was somehow important after they won in 1966. Last year thousands of Scots sold their cars, and even their houses, and spent all their money traveling to Argentina, where the finals were played.
So, am I arguing that international competition kills the idea of sport? Certainly not! Do the Argentineans really believe that because eleven of their men proved the most skillful at football, their nation is in every way better than all others? Not really. But it's nice to know that you won and that in one way at least your country is the best.

6. The main idea of the passage is . 

A) to tell us that football is the most important sport in the world

B) to compare Argentina with England
C) to explain the role of sport
D) to tell us the fact only children can enjoy themselves in sports games

7. The athlete representing his country only thinks about winning because ________.

A) the games are too competitive

B) he wants to make a lot of money

C) he wants to enjoy himself
D) he fights for the nation's hopes, dreams and reputation

8. The underlined word "summit" in Paragraph 2 means ________.
A) highest point


B) mountain top

C) example

D) perfection

9. Thousands of Scots sold their cars and houses, and went to Argentina, because ________.
A) they wanted to have a trip
B) they wanted to see the finals of the World Cup

C) they wanted to live there

D) they loved Argentina very much
10. Which of the following statements is true?

A) The Argentinean football team proved the best one.
B) International competition kills the idea of sport.
C) Sports fans and supporters are crazy about the World Cup.
D) The essence of sport is winning.

6-10. CDABC

Passage 3

The pine (松) tree is a special kind of tree. Some people call the pine tree a Christmas tree. This is because many people put pine trees in their homes at Christmas time. Pine trees are different from other trees because most other trees lose their leaves in the winter. Pine trees stay green all year long, even in the winter. Pine trees are also called evergreens because they are always green. Pine trees do not have soft leaves like other trees. They have hard, thin leaves. Pine trees also have pine cones. If you walk in a forest, you will see many pine cones on the ground. Inside the pine cones are seeds. When the seeds fall to the ground, a new tree starts to grow.
Pine trees are useful for many reasons. The wood is used to make many things, such as tables, beds and boats. Many kinds of birds build their homes in pine trees. The seeds of pine trees are food for some small and big animals.
If you walk in a forest of pine trees, the air has a wonderful smell. In winter, the white snow on the dark green trees looks very beautiful.
11. Some people call the pine tree a Christmas tree because ______.
A) pine trees are green at Christmas time
B) pine trees are put in people’s homes at Christmas time
C) the pine tree is a special kind of tree
D) pine trees never lose their leaves in the winter
12. According to the second paragraph, the underlined expression “pine cones” means ______.
A) 松



B) 松针



C) 松果



D) 松树
13. Which is NOT the feature that makes pine trees different from other trees?
A) Pine trees never lose their leaves in the winter.
B) Pines trees are always green.
C) Pines trees have hard and thin leaves.
D) Pines trees have many seeds.
14. Which is NOT the reason why pines trees are useful?
A) Pine cones are food for animals.
B) The wood is used to make many things.
C) Many animals build their homes in pine trees.
D) The white snow on the pine trees is very beautiful.
15. The purpose of the passage is ______.
A) to introduce the pine tree



B) to praise the pine tree
C) to encourage people to plant pine trees

D) to tell us a story about a Christmas tree
11-15.BCDDA  
Passage 4

A car needs gas to run and your body also needs food to work for you. Eating the right kind of food is very important. It can keep your body strong, so take care of what you eat. There are four main food groups altogether. The dairy products group has food like milk, cheese and sour milk. The other three groups are the meat and fish group, the fruit and vegetable group, and the bread and rice group. Each meal should have at least one food from all the four main groups. With all these food together you will be given enough energy during the day.
It is easy to get into bad eating habits. You may eat your breakfast in a hurry to get to school on time. Or you may not have time for a good lunch. It may seem easy to finish your supper with fish and chips all the time. But you will find yourself tired during these days and you cannot think quickly.
Watching what you eat will help keep your body healthy and strong. It is also good to take some exercise. It will help you eat more if you take a walk or play games in the open air. Having a good eating habit with some exercise is the key to your health.
16. What is the main idea of the passage?
A) As a car needs gas, your body needs food.
B) Eating enough food is very important.
C) Healthy diet with exercises will keep your body healthy and strong.
D) Our diets must include milk.
17. The best diet should include ______.

A) milk, fish, cabbage and bread

B) cheese, milk and eggs
C) sour milk, pork and apples


D) milk, pork and rice
18. Which one is NOT a bad eating habit, according to the passage?
A) Eating breakfast in a hurry.


B) Having no time for a good lunch.
C) Eating fish and chips all the time.

D) Finding enough time to enjoy lunch.
19. According to the passage, is the key to your health. ______.

A) eating the right kind of food every day

B) taking a walk after lunch
C) a good eating habit with some exercise

D) playing games in the open air
20. The best title for the passage is ______.

A) Food


B) A Healthy Diet

C) Body and Food

D) Food and Exercise
16-20 CADCB
Passage 5
President Coolidge's statement, “The business of America is business,” still points to an important truth today that business institutions have more prestige (威望) in American society than any other kind of organization, including the government. Why do business institutions possess this great prestige? 

One reason is that Americans view business as being more firmly based on the ideal of competition than other institutions in society. Since competition is seen as the major source of progress and prosperity by most Americans, competitive business institutions are respected. Competition is not only good in itself, it is the means by which other basic American values such as individual freedom, equality of opportunity, and hard work are protected.

Competition protects the freedom of the individual by ensuring that there is no monopoly(垄断) of power. In contrast to one, all-powerful government, many businesses compete against each other for profits. Theoretically, if one business tries to take unfair advantage of its customers, it will lose to competing business which treats its customers more fairly. Where many businesses compete for the customers' dollar, they cannot afford to treat them like inferiors or slaves.

A contrast is often made between business, which is competitive, and government, which is a monopoly. Because business is competitive, many Americans believe that it is more supportive of freedom than government, even though government leaders are elected by the people and business leaders are not. Many Americans believe, then, that competition is as important, or even more important, than democracy in preserving freedom.

Competition in business is also believed to strengthen the ideal of equality of opportunity. Competition is seen as an open and fair race where success goes to the swiftest person regardless of his or her social class background. Competitive success is commonly seen as the American alternative to social rank based on family background. Business is therefore viewed as an expression of the idea of equality of opportunity rather than the aristocratic(贵族的) idea of inherited privilege. 

21. The statement “The business of America is business” probably means “ _______”.

A) The business institutions in America are concerned with commerce 

B) Business problems are of great importance to the American government 

C) Business is of primary concern to Americans 

D) America is a great power in world business 

22. Americans believe that they can realize their personal values only _______. 

A) when given equality of opportunity
B) through doing business
C) by protecting their individual freedom
D) by way of competition
23. Who can benefit from business competition?

A) Honest businessmen.
B) Both businessmen and their customers.
C) People with ideals of equality and freedom.
D) Both business institutions and government.

24. Government is believed to differ strikingly from business in that government is      characterized by____.
A) its absolute control of power
B) its function in preserving personal freedom
C) its role in protecting basic American values
D) its democratic way of exercising leadership
25. It can be inferred from the passage that the author believes _______.
A) Americans are more ambitious than people in other countries
B) in many countries success often depends on one's social status
C) American businesses are more democratic than those in other countries
D) businesses in other countries are not as competitive as those in America
21-25 CDBAB
Passage 6
Many centuries ago, a group of Jews (犹太人) landed in India and immediately went to the king. They told him that they were lost and wanted to settle in his kingdom.

  In those days any foreigner was viewed with suspicion (怀疑), so the king was hesitant about letting them in. He sent for one glass of milk and one glass of water. He asked the leader of the Jews to taste the milk. Then he poured out some milk and added some water. He asked the leader to taste the milk again and said, “What is the difference in taste?”
  The leader said, “The second time the milk tastes terrible.” “That is because of the water added to the milk,” said the king. “The water dilutes the milk and spoils its taste. So too your addition (加入) will spoil the kingdom.” The leader of the Jews thought for a moment and asked for another glass of milk. He then added sugar to the milk and asked the king to taste it. “It tastes sweet,” said the king.

  The leader of the Jews bowed his head and said, "Oh, king！That is how we would like to live here：as the small amount of sugar which sweetens the large quantity of milk and not as the water which dilutes the milk." Pleased with him the king granted them permission to stay.

26. The leader of the Jews went to the king because _____.
A) they wanted to ask directions
B) they wanted to drink some milk

C) they wanted to live there
D) they wanted to go through the kingdom

27. Why was the king hesitant?
A) Because he was suspicious of the foreigners.
B) Because in those days any foreigner was viewed as a bad guy.
C) Because he thought the Jews would rob them of their milk.
D) Because Jews were not trusty.
28. The king asked the leader of the Jews to taste the milk added with water just to show that _______.

A) the taste was terrible
B) if the Jews joined them, they would destroy the country

C) the taste was different from the pure milk
D) the taste was sweet

29. The underlined word “dilutes” means ________.

A) reduce



B) weaken

C) make less delicious
D) make (a liquid) thinner by adding another liquid such as water
30. The passage implies that the leader of the Jews was ________.

A) humorous


B) witty


C) foolish

D) unbelievable
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Passage 7
Normally a student must attend a certain number of courses in order to graduate, and each course which he attends gives him a credit which he may count towards a degree. In many American universities the total work for a degree consists of thirty-six courses each lasting for one semester. A typical course consists of three classes per week for fifteen weeks; while attending a university a student will probably attend four or five courses during each semester. Normally a student would expect to take four years attending two semesters each year. It is possible to spread the period of work for the degree over a longer period. It is also possible for a student to move between one university and another during his degree course, though this is not in fact done as a regular practice.

For every course that he follows a student is given a grade, which is recorded, and the record is available for the student to show to prospective employers. All this imposes a constant pressure and strain of work, but in spite of this some students still find time for great activity in student affairs. Elections to positions in student organizations arouse much enthusiasm. The effective work of maintaining discipline is usually performed by students who advise the academic authorities. Any student who is thought to have broken the rules, for example, by cheating has to appear before a student court. With the enormous numbers of students, the operation of the system does involve a certain amount of activity. A student who has held one of these positions of authority is much respected and it will be of benefit to him later in his career.

31. Normally a student would at least attend _____ classes each week.

A) 36


B) 12


C) 20


D) 15

32. According to the first paragraph an American student is allowed _______.

A) to live in a different university
B) to take a particular course in a different university
C) to live at home and drive to classes
D) to get two degrees from two different universities

33. American university students are usually under pressure of work because _______.

A) their academic performance will affect their future careers
B) they are heavily involved in student affairs
C) they have to observe university discipline
D) they want to run for positions of authority

34. Some students are enthusiastic for positions in student organizations probably because_______.
A) they hate the constant pressure and strain of their study
B) they will then be able to stay longer in the university
C) such positions help them get better jobs
D) such positions are usually well paid

35. The student organizations seem to be effective in ______.

A) dealing with the academic affairs of the university
B) ensuring that the students observe university regulations
C) evaluating students’ performance by bringing them before a court
D) keeping up the students’ enthusiasm for social activities

31-35 BBACB
Passage 8
Is it difficult for you to get up in the morning? Do you sometimes oversleep? Are you often late for work or school? Yes? Then Hiroyuki Sugiyama of Japan has a special bed for you. Hiroyuki’s bed will get you up in the morning! Here is how it works:
The bed is connected to an alarm clock. First, the alarm clock rings. You have a few minutes to wake up. Next, a tape recorder in the bed plays soft music or other pleasant sounds. A few minutes later, a second recording plays. The second recording can be loud music or unpleasant sounds. If you don’t get up after the second recording, you’ll be sorry. A mechanical “foot” is in the bed. The mechanical foot kicks you in the head. Then the bed waits a few more minutes. What! You’re still in bed! Slowly, the top of the bed rises higher and higher. The foot of the bed goes lower and lower. Finally, the bed is vertical. You slide off the bed and onto the floor. You are awake and out of bed.
Hiroyuki made his bed because he wanted to win a contest. He works for Honda Motor Company. Once every two years, Honda has a contest—the “All Honda Idea Contest”. In 1996 Hiroyuki won a prize for his bed.
36. The purpose of the passage is ______.

A) to introduce a special bed


B) to tell a story

C) to wake somebody up



D) to praise Hiroyuki

37. What does the special bed do first in the morning?

A) Its tape recorder plays soft music.
B) Its tape recorder plays loud music.

C) It kicks you in the head.


D) Its alarm clock rings.

38. If you don’t wake up after the clock rings, what will happen?

A) The mechanical “foot” kicks you in the head.
B) The bed becomes vertical and you slide off the bed.
C) The tape recorder plays pleasant sounds.
D) You will be late for work.

39. Why did Hiroyuki make such a special bed?
A) Because he wanted to win the contest held by his company.
B) Because he was good at inventing new things.
C) Because he wanted to make money.
D) Because he sometimes overslept.

40. Who is Hiroyuki?
A) A scientist.

B) A company worker.
C) An inventor.

D) A carpenter.

36-40 ADCAB

Passage 9
The view over a valley of a tiny village with thatched (草盖的) roof cottages around a church；a drive through a narrow village street lined with thatched cottages painted pink or white；the sight over the rolling hills of a pretty collection of thatched farm buildings——these are still common sights in parts of England. Most people will agree that the thatched roof is an essential part of the attraction of the English countryside.
Thatching is in fact the oldest of all the building crafts practiced in the British Isles (英伦诸岛). Although thatch has always been used for cottage and farm buildings, it was once used for castles and churches, too.
Thatching is a solitary (独自的) craft, which often runs in families. The craft of thatching as it is practiced today has changed very little since the Middle Ages. Over 800 full-time thatchers are employed in England and Wales today, maintaining and renewing the old roofs as well as thatching newer houses. Many property owners choose thatch not only for its beauty but because they know it will keep them cool in summer and warm in winter.
In fact, if we look at developing countries, over half the world lives under thatch, but they all do it in different ways. People in developing countries are often reluctant to go back to traditional materials and would prefer modern buildings. However, they may lack the money to allow them to import the necessary materials. Their temporary mud huts with thatched roofs of wild grasses often only last six months. Thatch which has been done the British way lasts from twenty to sixty years, and is an effective defiance against the heat.
41. Which of the following remains a unique feature of the English countryside？

A) Narrow streets lined with pink or white houses.
B) Rolling hills with pretty farm buildings.
C) Cottages with thatched roofs.
D) Churches with cottages around them. 

42. What do we know about thatching as a craft? 

A) It is a collective activity.
B) It is practiced on farms all over England.
C) It is quite different from what it used to be.
D) It is in most cases handed down among family members. 

43. Thatched houses are still preferred because of _______. 

A) their style and comfort
B) their durability
C) their easy maintenance
D) their cheap and ready-made materials

44. People in developing countries also live under thatch because _______.
A) thatched cottages are a big tourist attraction
B) thatched roof houses are the cheapest
C) thatch is an effective defense against the heat
D) they like thatched houses better than other buildings 

45. We can learn from the passage that _______.
A) thatched cottages in England have been passed down from ancient times

B) thatching is a building craft first created by the English people
C) the English people have a special liking for thatched houses
D) most thatched cottages in England are located on hillsides
41-45 CDABA
Passage 10
What will man be like in the future—in 5,000 years from now? We can only make a guess, of course, but we can be sure that he will be different from what he is today. For man is slowly changing all the time.
Let us take an obvious example. Man, even 500 years ago, was shorter than he is today. Now, on average, men are about three inches taller. 500 years is a relatively short period of time, so we may assume that man will continue to grow taller.
Again, in the modern world we use our brains a great deal. Even so, we still make use of only about 20% of the brain's capacity. As time goes on, however, we shall have to use our brains more and more, and eventually we shall need larger ones. This is likely to bring about a physical change in the head, in particular the forehead, which will grow larger.
Nowadays our eyes are in constant use. In fact, we use them so much that very often they become weaker and we have to wear glasses. But over a very long period of time it is likely that man's eyes will grow stronger.
On the other hand, we tend to make less use of our arms and legs. These, as a result, are likely to grow weaker. At the same time, however, our fingers will grow more sensitive because they are used a great deal in modern life.
But what about hair? It will probably disappear from the body altogether in the course of time because it does not serve a useful purpose any longer. In the future, then, both sexes are likely to be bald.
Perhaps all this gives the impression that future man will not be a very attractive creature to look at. This may well be true. All the same, in spite of all these changes, future man will still have a lot in common with us. He will still be a human being, with thoughts and emotions similar to our own.
46. The passage is mainly about ________.
A) what future man's life will be
B) what future man will look like
C) future man's attractive appearance
D) future man's thoughts and emotions
47. According to the passage, man in the future will ________.

A) continue to grow shorter
B) continue to grow taller
C) not change in height
D) be about three inches taller
48. Why will our forehead grow larger?
A) Because we make use of only about 20% of the brain's capacity.
B) Because it's the tendency as time passes.
C) Because man had a very large forehead 500 years ago.
D) Because we use our brains more and more so we shall need a larger forehead.
49. Which of the following is NOT true?
A) In the future, both man and woman are likely to have no hair.
B) It is likely that man's eyes will grow stronger in the future.
C) Our fingers will grow more sensitive in the future.
D) All future men will have to wear glasses.
50. In the last paragraph, the author believes that ________.

A) man in the future grows very ugly
B) future man has little in common with us

C) future man’s thoughts and emotions are similar to ours

D) future man is not a human being
46-50 BBDDC

Passage 11
So long as teachers fail to distinguish between teaching and learning, they will continue to undertake to do for children that which only children can do for themselves. Teaching children to read is not passing reading on to them. It is certainly not endless hours spent in activities about reading. Douglas insists that “reading cannot be taught directly and schools should stop trying to do the impossible.”
Teaching and learning are two entirely different processes. They differ in kind and function. The function of teaching is to create the conditions and the climate that will make it possible for children to devise the most efficient system for teaching themselves to read. Teaching is also public activity: It can be seen and observed.
Learning to read involves all that each individual does to make sense of the world of printed language. Almost all of it is private, for learning is an occupation of the mind, and that process is not open to public scrutiny.
If teacher and learner roles are not interchangeable, what then can be done through teaching that will aid the child in the quest (探索) for knowledge? Smith has one principal rule for all teaching instructions. “Make learning to read easy, which means making reading a meaningful, enjoyable and frequent experience for children.”
When the roles of teacher and learner are seen for what they are, and when both teacher and learner fulfill them appropriately, then much of the pressure and feeling of failure for both is eliminated. Learning to read is made easier when teachers create an environment where children are given the opportunity to solve the problem of leaning to read by reading.
51. The problem with the reading course as mentioned in the first paragraph is that _______. 

A) it is one of the most difficult school courses
B) students spend endless hours in reading
C) reading tasks are assigned with little guidance

D) too much time is spent in teaching about reading

52. The teaching of reading will be successful if _______.

A) teachers can improve conditions at school for the students 

B) teachers can enable students to develop their own way of reading

C) teachers can devise the most efficient system for reading 

D) teachers can make their teaching activities observable 

53. The word “scrutiny”(Line 3, Para. 3) most probably means“ _______”.

A) inquiry

B) observation

C) control

D) suspicion
54. According to the passage, learning to read will no longer be a difficult task when  _______.

A) children become highly motivated
B) teacher and learner roles are interchangeable

C) teaching helps children in the search for knowledge

D) reading enriches children’s experience 

55. The main idea of the passage is that _______. 

A) teachers should do as little as possible in helping students learn to read
B) teachers should encourage students to read as widely as possible
C) reading ability is something acquired rather than taught
D) reading is more complicated than generally believed
51-55 DBBAC 
Passage 12
Nursing at Beth Israel Hospital produces the best patient care possible. If we are to solve the nursing shortage (不足), hospital administration and doctors everywhere would do well to follow Beth Israel's example.
At Beth Israel each patient is assigned to a primary nurse who visits at length with the patient and constructs a full-scale health account that covers everything from his medical history to his emotional state. Then she writes a care plan centered on the patient's illness but which also includes everything else that is necessary.
The primary nurse stays with the patient through his hospitalization, keeping track with his progress and seeking further advice from his doctor. If a patient at Beth Israel is not responding to treatment, it is not uncommon for his nurse to propose another approach to his doctor. What the doctor at Beth Israel has in the primary nurse is a true colleague.
Nursing at Beth Israel also involves a decentralized (分散的) nursing administration; every floor; every unit is a self-contained organization. There are nurse-managers instead of head nurses; in addition to their medical duties they do all their own hiring and dismissing, employee advising, and they make salary recommendations. Each unit's nurses decide among themselves who will work what shifts and when.
Beth Israel's nurse-in-chief ranks as an equal with other vice presidents of the hospital. She also is a member of the Medical Executive Committee, which in most hospitals includes only doctors.
56. Which of the following best characterizes the main feature of the nursing system at Beth Israel Hospital?

A) The doctor gets more active professional support from the primary nurse.

B) Each patient is taken care of by a primary nurse day and night.

C) The primary nurse writes care plans for every patient.

D) The primary nurse keeps records of the patient's health conditions every day.

57. It can be inferred from the passage that ________.

A) compared with other hospitals nurse at Beth Israel Hospital are more patient

B) in most hospitals patient care is inadequate from the professional point of view

C) in most hospital nurse get low salaries

D) compared with other hospitals nurses have to work longer hours at Beth Israel Hospital

58. A primary nurse can propose a different approach of treatment when ________.

A) the present one is refused by the patient

B) the patient complains about the present one

C) the present one proves to be ineffective

D) the patient is found unwilling to cooperate

59. The main difference between a nurse-manager and a head nurse is that the former ________.

A) is a member of the Medical Executive Committee of the hospital

B) has to arrange the work shifts of the unit’s nurses

C) can make decisions concerning the medical treatment of a patient

D) has full responsibility in the administration of the unit's nurses

60. The author’s attitude towards the nurse system at Beth Israel Hospital is ________.

A) negative


C) neutral


B) critical


D) positive

56-50 ABCDD

IV. Translation (15 points )

Direction: Translate the following sentences into English, using the words and phrases given in brackets.

1. 她第一次认识到了自己处境的潜在危险。(potential)

2. 近来你到过那里吗? 那儿桃树正在开花。(lately, blossom)

3. 我最好的朋友Tom 将亲自教我儿子英语。(in person)

4. 此药对病人立刻产生了效果。(have an effect on)

5. 中国在过去的20年时间里取得了惊人的成就。(incredible)

1. For the first time she realized the potential danger of her situation.

2. Have you been there lately? Those peach trees are blossoming.

3. Tom, my best friend, will teach my son English in person.

4. The drug has had an immediate effect on the patient.

5. China has made incredible achievements in the last two decades.

6. 这是一个值得仔细考虑的问题。(worthy of)
7. 如果我不太忙，明天会去逛街。(unless)
8. 人们过去常根据收音机对表。(set)
9. 大火把树林烧得仅剩下几棵树。(reduce... to)
10. 这部电影取材于一部关于虚拟世界的短篇小说。(originate, virtual)
6. This is a question worthy of careful consideration. 

7. I shall go shopping tomorrow unless I am too busy. 

8. People used to set their watches by the radio. 

9. The fire reduced the forest to a few trees. 

10. The film originated in/from a short story about the virtual world.
11. 老师提的问题是那样难，以至于学生们不知道怎么解决。(tackle) 

12. 教学方法各有不同。(vary from... to)

13. 运动有益于我们的健康。(benefit) 

14. 司机疏忽大意导致了这场事故。(result in)

15. 会议室里的气氛相当友好。(atmosphere)

11. The question set by the teacher was so difficult that the pupils did not know how to tackle it.

12. Teaching methods vary from teacher to teacher.

13. Exercise benefits our health.

14. The carelessness of the driver resulted in the accident.

15. The atmosphere in the meeting room was rather friendly.

V. Writing (15 point)

1.

Directions: For this part, you are allowed 30 minutes to write a short essay on the topic Starting Career in a Big City or Small Town？ You should write at least 100 words following the outline given below in Chinese:

1. 很多的大学生毕业后留在大城市工作；

2. 也有人选择到小城镇开始自己的职业生涯；

3. 结合自己的实际情况谈谈自己的想法。
2.

Directions: For this part, you are allowed 30 minutes to write a composition on the topic Is Failure a Bad Thing. You should write at least 100 words following the outline given below in Chinese:

1. 失败是常有的事。

2. 人们对失败有各种态度。

3. 我对失败的态度。

3.

V. Directions: For this part, you are allowed 30 minutes to write a short essay entitled Only Stricter Traffic Laws Can Prevent Accidents. You should write at least 100 words following the outline given below. 
1. Every day, thousands of people died from traffic accident in the world. 

2. Drivers pay no attention to their driving behavior.
3. Laws and regulations should be made to prevent accidents.
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